
~ 
~- I (-am-r-facmf ~ ~) 

I. (c} 2. (c} 3. (a) 4. (d) 5. (c} 6 . (b) 

7. (d} 8. (c} 9. (C) IO. (c) 11. (d) 12. (d) 

13. (b) 14 . (C) 15. (d) 16. (c) 17. (d) 18. (c) 

19. (b) 20. (c) 21. (d) 22. (d) 23. (a) 24. (c) 

25. (c) 26. (C) 27. (a) 28. (c) 29. (c) 30. (d) 

~-II: 'Qlln- I(~) 
31. (d) _32. (b) 33 . (C) 34. (C) 35. (b) 36. (a) 

37. (c) 38. (d) 39. (a) 40. (d) 41. (d) 42. (a) 

43 . (d) 44. (c) 45. (d) 46. (c) 47. (b) 48. (c) 

49. (b) 50. (a) 51. (b) 52. (a) 53. (b) 54. (a) 

55. (c) 56. (a) 57. (d) .58. (c) 59. (b) 60. (c) 

~-ID: 'Qlln-11: ~ 

4 
61. (c) 62. (a) 63 . (d) 64. (a) 65. (b) 66. (c) 

r ~ 67. (d) 68. (b) 69. (b) 70. (d) 71. (c) 72. (b) 
73. (b) 74. (d) 75. (b) 76. (d) 77. (a) 78. (d) 
79. (c) 80. (a) 81 . (a) 82. (b) 83. (d) 84. (a) 

85. (d) 86. (c) 87. (a) 88. (d) 89. (d) 90. (b) 

~ - IV ( l1'fi)ra ) 
91. (c) .m 3lcliT cffi'ft ~ (~ ~) m§!f1" 9999 

.m 3lcliT cITT'lt ~ (ffl "0Tit) = 1000 

· ~ q;r ~ = 9999 + 1000 = 10999 
92. (a) ~ i1Ttf1tR 21°c 

~ 1iR if l 8°C <!f.& $ ofTG: i1Ttf1tR 

= 27°C + 18°C = 45°C 

~mt11tRif cfilfi$imm(~ll"R 
= 45°C - 23°C= 22°C 

93 . (C) (-2) X (-3) X (-4) X (-5) X (-6) 
= (+6) X (+20) X (-6) 

~ = 120 X (-6) = - 720 
94. (a) 3!"1n!" 1iR = 8.350- 3.178 = 5.172 

=5 fcmn-172 llTll" 

95. (b) : . r ~ ~ qffi err <fit ~ = 2 1t r 

.-. 3.5 ~ ~ q@ err <fit llftfc1 

22 
= 2 x7 x 3.5 = 2 x 22 x 0.5 = 110 ~ 

96. (C) (9 + 7) + 4 X 5 =? 

97. (c) 

16 
? = - X 5 = 4 X 5 = 20 

4 

98. (b) l!RT ~ci; ~~ x~t1 

~ ,x-14=6 
X = 6 + 14 = 20 

99. (b) ½+i+C:Xi¾) =½+i+C: x¾) 
I 7 7 I 7 8 

= -+-+- = -+-x -
3 9 8 3 9 7 

I 8 3+8 11 2 
--+------1-

3 9 9 9 9 

J00.(a) 

101.(a) ./64-~ =8-(43
)

113 =8 -4
3.i 

=8-4=4 

102.(b) - 0.008 q;r ~ 

= ~(-0.2) X (-0.2) X (-0.2) 

= -0.2 

103.(b) 496 <lllT 318=496+318=814 

~if~ 1iR = 800 

I 28-1 27 6 
104. (c) 7 = 4 -7=-7-=7= 37 

I 3 
105.(d) ? = 2-+-

4 4 

=2.+I=~=3 
4 4 4 

I 06. ( d) i<n'l° <fit ~ = i<n'l° cnT 3W«'R 

= "ff. X 'qi. X ~-

= 6 ~ 2.4 X 1 = 14.4 lft 3 

31of ~ i<n'l° ~ 'JRt t I 

3IB: ~ ~ = 14.4 = 7.2 lft 3 
2 

101. <c> ~~~mm<fit~~WJR~t~ 
.rm~ t 3m .r -gt~ ti 

108.(d) 90° ~ ~ <h1UT ~ 
90° cnrm ~ 
90° ~ ~ m (!?.IT 180° -it mz ~ m 
180° cnr m ~ <{l ml'f m 
~ 1.80° ~ ~ m c210°) ~ <{l Jlftrcraf m 
~~I 

, 109.(b) 

110. <d> .-. ~~it mm ~ WJR m"ift i 3IB= 

·5, 12, 13 ~ ~ 9Tffi ~"{!_qi~~ "ITTTTTI 

~- l!RT cliUf = 13 ~. ~ = 5 ~ (!?.IT 3lT'<m = 

12 ~ti 
(cnllf2) = (3TI'<m)2 + (~)2 

(13)2 = (12)2 + (5)2 
169 = 144 + 25 
169 = 169 

am: 3l'ifh!~=~~ 
111.(b) ~I~= I~= I fflT 

: . 3 ~ <l°I ?l~el~F<fift = 3 fflT 
am: 9 ~1~e1~F<fift = 9 x 3=27 fflT 

cnTit 7T{ mfi = 4¾ = 
3; "f{1ft 

am: "ffl' mfi = 2 I - ~ 
2 8 

4 x 21-37 84-37 

8 8 

= 47 =5'!._ ~ 
8 8 

113.(c) 37.188 + 3.6 

371880 37188 12396 4132 
=--=--=--= 

36000 3600 1200 400 

114. (b) 999 cf 3000 $ ~ '<111: 3TcnT cm:ft ~ 
= {3000-(ifi.J 3l<fil cm:ft ~}- I 
= (3000 - 999) - 1 
= (200 1) - l = 2000 

115. (d) 9361 ~ ~ m§!f1" t ~ ~ ~ ~ ~ 
~ ~ cnT ~ (9 + 6) - (3 + I)= 15 - 4 = 11 t I 
3lo: ~ m§!f1" 11 ~ ~ "ITT1fi I 

l -:+ I 1 
116. (d) 1- -1 3TTm = 1- cfiT -

2 2 2 

3 1 3 
=- x - =-

2 2 4 
117.(a) ?=44-6+43 x 2-87 

= 44 - 6 + 86 - 87 
= 130-93 
= 37 

118. (c) 8.2 wit ~ qra qrf <fit ~ = im-irr 
= 4 X 8 .2 = 32 .8 wit 

119.(d) 3 ('fl- furrq $ ~ af'i:IT W'f -qr;ft 

= 20- 3 = 17 ('fi-

20 ('fl- it ~ f = I 7 ('fl- W'f ~ 

~ (1 7 x l00) 100 ('fl- ir wrr = ~ % ('fl-

= (17 x 5)% = 85% 

120.(c) :. 3 "ffirnl cfiT ~ = ~ 20 

;;---.. 20 
. :. 1 '11~1:'1 cnT ~ = ~ --::;­

.) 

3lo= 6 m = 12 -ffirnr. cfiT ~ 

20 
= 72 X J = 24 X 20 = ~ 480 

cqylf- V ( Q<-lfcHofh~ ~) 
12 l. (d) 122. (c) 123. (a) 124. (c) 125. (c) 126. (n) 
127. (d) 128. (b) 129. (d) 130. (a) 131. (d} 132. (a) 
133 . (c) 134. (b) 135. (a) 136. (b) 137. (d) 138. (a) 
139. (c) 140. (b) 141. (c) 142. (a) 143. (c) 144. (d) 
145. (b) 146. (d) 147. (c) 148. (c) 149. (c) 150. (d) 

■ 

A TET~QlR I 69 



{ "type": "Document", "isBackSide": false }

